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QUESTION 1

During discovery of business requirements, an architect learns that some of the business requirements cannot be
accomplished using standard out-of-the-box AEM components. 

Which requirement can be achieved with out-of-the-box components? 

A. Display the current temperature for a given location 

B. Create an image carousel from a user-selected number of pages 

C. Display a Google Maps interactive map for an authored location 

D. Display the top X requested pages in a site 

Correct Answer: C 

 

QUESTION 2

An architect is helping a multi-national news company design its project and determine requirements. The functionality
requires several external feeds to display breaking news and live scores for major sporting events. 

What is the most important factor for the architect to consider when meeting the performance requirements? 

A. The authentication requirements from each feed 

B. The number of JCR nodes each feed item requires 

C. The import frequency of the feed 

D. The payload type in which the feeds are returned 

Correct Answer: A 

 

QUESTION 3

In which type of architecture diagram would the architect be most likely to list the IP addresses of individual servers? 

A. Physical 

B. Logical 

C. Conceptual 

D. Data Flow 

Correct Answer: A 

 

QUESTION 4
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A multi-national company rolls out its authoring tools and site in English-speaking locations without regard to other
languages. An architect must augment the system to facilitate authoring content in French and adapting the resulting
tools to enable other languages added at a later date. Which tool allows the architect to manage dictionaries? 

A. I18n 

B. Internationalization Service 

C. Translator 

D. Dictionary 

Correct Answer: C 

 

QUESTION 5

A digital publisher is migrating to AEM. The primary goal is to provide a more user-friendly page authoring interface. The
current content management system has been built in house by staff developers, runs on a top of a MySql database,
and uses forms for content editing. Discovery meetings are being held with the business owners and content authors.
What is the most significant and relevant conceptual change from the current CMS? 

A. AEM uses a hierarchy-based repository. 

B. AEM does NOT use a relational database. 

C. AEM allows authors to drag-and-drop components to build pages. 

D. AEM is written in Java. 

Correct Answer: C 
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